
Speed controller
Brake Unit

O
ptions

Index

Speed controller

*

C-27

Unit typeSpeed controller

*

C-26

1. Drill 2 square holes in the object.
2. Secure the controller and front panel with 2 M4 screws.

Wall thickness of the equipment where the controller is to be mounted should be 2 mm or less. 

1. Drill 2 square holes in the wall of the object.
2. Remove the front panel from the controller.
3. Secure the controller body with M3 flat-head screws and nuts.
4. Place the front panel on the wall and secure the panel with M4 screws and nuts.

When installing the speed controller at a distance more than 1 m from the motor, use optional 
“extension cord” that is supplied as standard accessory (allowable distance 5 m).
Refer to page D-4 (Option).

81
+1   0

90
±0

.2

53 +1
  0

(2.09      )+0.039
  0

2- M4 or 2- ø4.5(ø0.18)

Controller

2- M4 screw
Object

Nut

Controller
2.0 mm max.

2- M4 screw

Body mounting screw (M3 flat-head)

Front panel

(3
.1

9 
   

  )
+0

.0
39

  0

(3
.5

4 ±0
.0

08
)

Unit: mm (inch)

Unit: mm (inch)

90
 ±0

.2
(3

.5
4 ±0

.0
08

)

50±0.2

13.2 ±0.2

(0.52 ±0.008)

(1.97 ±0.008)

15
 ±0

.2
(0

.5
9 ±0

.0
08

)
12

 ±0
.2
(0

.4
7 ±0

.0
08

)
26

 ±0
.2
(1

.0
2 ±0

.0
08

)

2 – ø7.5(ø0.30)

4 – ø3.5(ø0.14)
(Cross section A)

ø7(ø0.28)
ø23(ø0.91)

ø17(ø0.67)

ø3
.5

(ø
0.

14
)

(Cross section A)

ø6
.5

(ø
0.

26
)

Unit type inverter

 *1
 *2

±10 %

 *3
 *4

 *5



Speed controller
Brake Unit

O
ptions

Index

*

C-29

inverterSpeed controller

*

C-28

Terminal M4P0.7

Connector : IL-5S-S3L-(N)
Pin : IL-C2-10000
(Japan Aviation Electronics Industry)

Connector : 5557-06R-210
Pin : 5556TL
(Molex)

Gn : GND
R : U
W : V
Bk : W

Bk : Power supply
W : Power supply
Gn : GND

5-core shielded cable, gray

0.75 mm2(0.03 inch2) 4-core 10(ø0.39) black

90(3.54)

30(1.18)
L

L

1

5

IN

13.5(0.53) 13.5(0.53)

4-M3P0.5

6-ø3.5(ø0.14)

81(3.19)
72(2.83)

33(1.30)

3.0(0.12)
16(0.63)

17.5(0.69)MAX

ø5.1(ø0.2) hole6.
5(

0.
26

)
34

(1
.3

4)

51
.5

(2
.0

3)
ø2

5.
5(

ø1
.0

0)

15(0.59)
63(2.48)

24
(0

.9
4)

30
(1

.1
8)

40
(1

.5
7)

5
4
3
2
1

W
R
Bk
Y

Gn

I1
I2
I3
O1

COM

DV0P13902
DV0P13903
DV0P13905

2(78.74)
3(118.11)
5(196.85)

DV0P13802
DV0P13803
DV0P13805

2(78.74)
3(118.11)
5(196.85)

0.75 mm2(0.03 inch2)
3-core ø7(ø0.28) Terminal M4P0.7

Terminal M4P0.7

Terminal M3P0.540(1.57) 3000(118.11) 40(1.57)

90(3.54)

Green
White

Black

Unit: mm (inch)

Rated
supply
voltage

Prepare optional parts before connecting the unit to motor 
external terminal.

RUN/STOP switch
Normal/reverse switch
Free run to stop switch

Label

Low High

RUNSTOP

CCW CW

(13(0.51))
131(5.16)

52.5(2.07)

105.5(4.15) 4.5(0.18)

60(2.36)

2 – ø 4.5(ø 0.18)

10
0(

3.
94

)

90
(3

.5
4)

80
.5

(3
.1

7)

Front panel removed

R
L1

S
L2

PO
W

ER
  S

UP
PL

Y
M

O
TO

RE

I1
I2
I3
O1

COM

V

UW

(for acceleration/deceleration setting)

DIP switch
1. Double speed 
    selector
    (x1/x2)
2. Max. frequency 
    selector
    (60 Hz/50 Hz)
3. Electronic 
    thermal selector

Unit: mm (inch)

R/L1

S/L2

V E

I1
I2
I3
O1

COM

W U

Abnormal signal output terminal
Vce Max = 24 VDC
Ic max = 50 mA
(COM common open collector)

Power supply cord
(option)

External control
extension cord

(option)

Motor extension cord
(optin)

3-phase
Motor

MCCB




